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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Energy conservation means -

(a) Generation and destruction of energy

(b) Energy could be created

(c) Energy could not be created but destroyed
(d) Energy can neither be created nor destroyed
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Q. If a person sitting in a lift then when will he feel that his weight gets
increased?

(a) When the elevator going upward expeditiously

(b) When the elevator going down expeditiously

(c¢) Going upward with constant velocity

(d) Going downward with constant velocity

u. forre & a7 §3M e Ha ATHH PN 6 SHH I 9¢ TR §?
(T) 59 foroe doll @ W ST W &

(&) S foroe doit & AT o1 W ©

(I fAFd 91 § FUW Hr IR AT
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Q. The separation of cream from milk by churning is due to -
(a) Gravitational force

(b) Cohesive force

(c) Centrifugal force

(d) None of the above

U.Y § AATS Dl AYA H 3ol @l &l BRUT § -
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(&) Thele de
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Q. The speed of light is -

10%2m
(a) 9 % oc

1011m
sec
10%m
secC
10*m
secC

(b) 3 X

(c) 3 %

(d) 2 x
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Q. The SKy appears blue due to -

(a) Blue color is scattered most

(b) The red color is scattered most

(c) Blue light is minimum absorbed by atmosphere
(d) Red light is ultimately absorbed by atmosphere

. TR Aelr fe@rs aar & -

(T) Arar W1 &1 ghotT garde aar §
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Q. For shaving, one uses -
(a) Concave mirror

(b) Plain mirror

(c) Convex mirror

(d) None of these

. Afder & forw X A € -
(T) 3radel gdor
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Q. Which of the following lens is used to minimize Myopia?
(a) Convex lens

(b) Concave lens

(c¢) Cylindrical lens

(d) None of these

q. AROAT A FA W d fov [aff@a J 3 5 T o1 393 fhar smar
Y

(T) 39l ol

() 3fadd o9

() deAPR o
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Q. When beams of red, blue and green lights fall on the same spot, the colour of
the light becomes:

(a) Violet
(b) Red

(c) Yellow
(d) White

U. 59 ofel, At 3T &Y ganer i feol v & T . usdr §, af uaier &1 361
%TEHHT%:
(T) d¥elT
GG
(&) drem
(3Y) The
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Q. What is the distance between two successive crests or successive troughs
called?

(a) Amplitude
(b) Wavelength
(c) Frequency
(d) None of these

U.aY A I AT ST I & AT hr g @ =T Hga &7
(T) IATIH

COIGEURAZ]

(&) mgfa

() 3R A PIg TG
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Q. A 100 watt electric bulb is used for 10 hours. What will be the cost of
electricity consumed, if the consumption cost is Rs. 5 per unit?

(a) Rs. 5

(b) Rs. 10

(c) Rs. 25

(d) Rs. 50

¥. Th 100 dIc &l fdsTell &l dod 10 G dob YA fhaT Sar &1 @ud & a8
fastell &1 @rera &= gefl, 3R @ud oeTd 5 U 9fd gfac g7

(T) 530y

(&) 10 3T

(HY) 25 TUA

(3r) 50 TUA
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Q. Which of the following metals is used as filament in lighting bulbs?
(a) Iron

(b) Molybdenum

(c) Silver

(d) Tungsten

g. Aeafaf@a & @ fFa 91 & 3uAT T S H fheeic & §T # R
ST §7?

(T) e

(fY) Aforesaa

(&) =il

(3r) TIrEed
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Q. The principle of atomic bomb is based on -
(a) Nuclear fusion

(b) Nuclear Fission

(c) Above both

(d) Above none

. OXATY] IH &7 fdgiad ford oX 3mamia § -
(T) TRATY Herded
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Q. The unit of power is -
(a) Hertz

(b) Volts

(c) Watt

(d) Neutrons

. QfRh T AP © -

(T) Tt
(&) aree

(&) are
(3) =Ygl

Adda
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Q. The velocity of wind is measured by:
(a) Barometer

(b) Anemometer

(c) Hydrometer

(d) Wind Vane

U. AT T d9T HATAT ST &
(T) R
CIRGIC L [X

(&) TEgA

(3Y) UdT ol
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Q. Match the following:

A. Fathometer pressure 1. Atmospheric
B. Barometer humidity 2. Atmospheric
C. Hygrometer 3. Height
D. Altimeter 4. Depth of sea
Code:

A B C D
@ 2 3 1 4
(b)4 1 2 3
¢4 2 3 1
d3 1 2 4
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Q. Force is the product of -
(a) Mass and velocity

(b) Mass and acceleration
(c) Weight and velocity

(d) Weight and acceleration

q. Il &Pl 3cUIE § -
(T) gegHAT 3R aor
() g<gAE 3R caxor
(&) aota 3 der
() aaia 3R aoT
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Q. Which of the following pairs is correctly matched?

A. Radium 1. Alexander Fleming
B. Penicillin 2. Madan Curie
C. X-ray 3. Edward Jenner
D. Smallpox 4. WK. Roentgen
Code:
A B C D
@ 2 1 4 3
(b)2 3 4 1
(¢c3 4 1 2
d4 1 2 3
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Q. While travelling by plane, the ink of the fountain pen starts to come out -
(a) Due to decrease in air pressure

(b) Due to increase in air pressure

(c) Due to increase in volume of ink

(d) Due to excessive load

Y. 5d1S STeTel § AT ild AT Bided U i TR Fperad o9 § -
(T) 9 1 H HAT & HROT

(&) ageT # gfg & HROT

() T Y AT A g b HROT

@) ISP AR & HROT

e
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Q. While floating in a sea what part of an iceberg is above the surface of the sea?
(a) 1/9
(b) 1/3
(c)1/6
(d) 1/4

U.9qg # RQ I7F AN $1 Pled A1 A9 FHg Hr Tde T FW AT &7
(T) 1/9
() 1/3
(&) 176
(31) 1/4
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Q. What is the order of magnitude of electric resistance of the human body (dry)?
(a) 10*2 ohm
(b) 10*4 ohm
(c) 106 ohm
(d) 10”8 ohm

T. AT RR (Yh) & g afciy & TRATOT HT HA T §?
(T) 102 3H
(fY) 104 NH
(HY) 106 3NA
(31) 108 3NH



